Divide by 10° (A)

Find each quotient.

53 =103 = 85+ 103 =
87 ~ 103 = 6 =103 =
82 +~103 = 94 + 103 =
50 + 103 = 9+103=
42 =~ 103 = 11+ 103 =
8+10°= 24+ 10° =
48 - 103 = 31+ 103 =
14 + 103 = 90 ~ 103 =
51 =103 = 87 ~ 103 =
59 + 103 = 26 + 103 =
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Divide by 10° (A) Answers

53 +10°=0.053

87 + 10° = 0.087

82 + 10° = 0.082

50 + 103 =0.05

42 +10°=0.042

8 =~ 10°=0.008

48 + 10° = 0.048

14 + 10°=0.014

51 +10°=0.051

59 + 10° = 0.059

Find each quotient.

85 + 10° = 0.085

6+ 10% = 0.006

94 + 10° = 0.094

9 +10%=0.009

11 +10°=0.011

24 +10°=0.024

31 +10%°=10.031

90 + 10° = 0.09

87 +10° =0.087

26 +~10°=0.026
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